
 

 

   Edwards XDS 35i General Service Kit – 73001802 

DESCRIPTION QTY 
Angular Contact Bearing 1 

M4 Washer 6 
Shaft End Cap 1 
M8 x 25 Screw 1 
M8 x 35 Screw 1 

M4 x 40 Cap Screw 4 
4 x 4 x 12 Key Form 1 
M5 x 40 Pan Screw 6 

A/C BRG 2 
M30 x 2 Thin Nut 1 

M4 x 12 Cap Screw 18 
M4 Washer 6 

Orbital Scroll Plug 1 
M6 x 65 Cap Screw 3 

Circlip 1 
KF25 Flange Ring Cover 1 

O-Ring, 174.5 x 3 1 
O-Ring, 11.1 x 1.6 1 
O-Ring, 49.5 x 3 1 

19mm Blanking Plug 1 
NW40 Protective Cap 1 

M4 Washer 6 
O-Ring, 159.5 x 3 1 

 
 
 
 
 

 
 
 
 
 
 
 
 

A & J Vacuum Services, Inc. 
16 Somerset Place 
Clifton NJ 07012 

973-249-0854 


